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• RTOutSignal.h

• RTMessage.h

• RTProtocol.h

• ��8����



• RTActor.h
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• RTTiming.h

• RTLog.h

• RTFrame.h
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<RSARTE Installation Directory>/eclipse/rsa_rt/C++/TargetRTS/src
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° RTTimerNode informAt(RTTimespec)

� C/������
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� �=��8���H
'RTTimespec now;

RTTimespec::getclock(now);

timer.informAt(now + RTTimespec(5, 0));'

° RTTimerNode informIn(RTTimespec)
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D

�����
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'timer.informIn(UMLRTTimespec(5, 0));’

° RTTimerNode informEvery(RTTimespec)
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'timer.informEvery(RTTimespec(5, 0));’

° cancelTimer(RTTimerId)

� RTTimespec
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° log(primitiveType)
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° show(primitiveType)
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° cr(int)
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deport 0RTFrame.h1
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° RTActorId incarnate(RTActorRef & cp) 
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° bool destroy(RTActorId)
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cPort.m().send() 
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set timer

“doors open”;

“hit key to lock”

getchar();

lockPort.lock().send()

“doors locked”;

“hit key to open”

getchar();

lockPort.unlock().send()

“lock”+i+”locked”;

lockPort.lockStatus(true).send
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� RTActor(��
rtactor.hh)
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° string getTypeName()
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° string getName()
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° int getIndex()
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° ,�
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logger.log(“[%s:Controller] Starting up”, this->getName());

° ,�
����H
logger.log(“[d%s: Door] Starting up”, this->getIndex());
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‘msg->defer()’
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‘p.recall()’� ‘p.recallAll()’� �� ‘p.recallFront()’
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‘recallFront()’1

UML-RT

p.m(1).send();

p.m(2).send();

p.done().send();

int d = 1;

timing.informIn(RTTimespec(d,0));

p.m(3).send(); msg->defer();

log.log(“[B] received ‘done’”);

p.recall();

log.log(“[B] received ‘m(%d)’”, data); 

p.recall();
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msg->defer();

° �����
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�
8��	������H
port.recall();

������

log.log(“Received another request while processing”);

log.log(“Deferring”);

msg->defer();

log.log(“Done processing request!”);

port.recall();
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° bool recall()
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° bool recall()
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° bool recallFront()
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° bool registerSAP(string)
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p1.registerSAP(“myService”);

° bool registerSPP(string)
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° bool deregisterSAP(), bool deregisterSPP()
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• static int getArgCount();
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• static const char * getArg(int index);
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° const char *arg0 = RTMain::getArg(0);
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